Assembly Hardware Quantity
TSV-1.1

TSV-3.1, TSV-4.1 Mounting [1/4-20 x 1-1/2 Button Head Socket Cap Screw 2
Bottom 1/4-20 x 5/8 Button Head Socket Cap Screw 3
Face 8-32 x 1-1/4 Button Head Socket Cap Screw 2
TSV-2.1

TSV-3.1, TSV4.1 Mounting | 1/4-20 x 1-1/2 Button Head Socket Cap Screw 2
Bottom 1/4-20 x 5/8 Button Head Socket Cap Screw 3
Face (Relay) 8-32 x 2 Button Head Socket Cap Screw 2
Face (Fuse Holder) 8-32 x 5/8 Button Head Socket Cap Screw and flat washer 2
TSV-6.1 (2)

TSV-3.1, TSV-4.1 Mounting [1/4-20 x 1-1/2 Button Head Socket Cap Screw 1ea.
TSV-5.1 Mounting 1/4-20 x 1/2 Button Head Socket Cap Screw 3 ea.
TSV-10 (2)

TSV-11, TSV-12 Mounting 1/4-20 x 1-1/8 Button Head Socket Cap Screw 4
TSV-13.1

TSV-20, TSV-21 Mounting 1/4-20 x 5/16 Phillips Head Flat Machine Screw 4
Handle Mounting 10-24 x 1/2 Button Head Socket Cap Screw 4
TSV-15

TSV-11.1 1/4-20 x 1-1/4 Button Head Socket Cap Screw 2
TSV-21 Mounting 8-32 x 3/8 Button Head Socket Cap Screw and Locknut 4
LCD Display 6-32 x1-1/8 Button Head Socket Cap Screw 4
Battery Connector 10-32 x1-1/4 Button Head Socket Cap Screw and Nut 4
TSV-16 (Side Wall)

Sides, Bottom, Center 1/4-20 x 3/8 Phillips Head Flat Machine Screw 25
Center 1/4-20 x 5/8 Phillips Head Flat Machine Screw 3
Top Edge 5-40 x 3/8 Phillips Head Flat Machine Screw 5
TSV-17 (Side Wall)

Sides, Bottom, Center 1/4-20 x 3/8 Phillips Head Flat Machine Screw 25
Center 1/4-20 x 5/8 Phillips Head Flat Machine Screw 3
Top Edge 5-40 x 3/8 Phillips Head Flat Machine Screw 5
TSV-18 (Bottom Plate) 1/4-20 x 3/8 Button Head Socket Cap Screw 4
TSV-19 (Fan Plate) 1/4-20 x 3/8 Button Head Socket Cap Screw 4
TSV-20 Parts Mounting

Safety Loop 8-32 x 5/8 Button Head Socket Cap Screw and Locknut 4
Canbus 10-32 x 1/2 Button Head Socket Cap Screw 2
TSV-21 Parts Mounting

Pushbuttons 4-40 x 5/8 Button Head Socket Cap Screw and Locknut 3
Safety Loop 8-32 x 5/8 Button Head Socket Cap Screw and Locknut 4
Canbus 10-32 x 1/2 Button Head Socket Cap Screw 2
TSV-22.1(2) 1/4-20 x 1/2 Button Head Socket Cap Screw 4 ea.
Assembly Hardware | Quantity




TSV-31.1

8-32 x 5/8 Button Head Socket Cap Screw and Locknut

3/8-16 x 1" Hex Head Bolt with Lockwasher

3/8-16 x 1/2" Hex Head Bolt with Lockwasher

TSV-34, TSV-35 (Battery) M4 x 10 x 20mm Button Head Socket Cap Screw (Stainless Ste 56
TSV-37.2 Bottom 1/4-20 x 1/2 Button Head Socket Cap Screw 2
TSV? (Packman Mounting Plate)

1/4-20 x 1/2 Button Head Socket Cap Screw 4
Packman Board Mounting |4-40 Board Stand Off 4
LCD Cover Plate 6-32 x 1/2 Button Head Socket Cap Screw 4




